The Constitution
of the United States

From the census of 2000 it is easy to
calculate that an amendment could
be blocked by
thirty-four senators from the seventeen
smallest states with a total population
of 20,495,875, or 7.28 percent of the
population of the United States.

If miraculously the amendment were
to pass the Senate it could then
be blocked by
thirteen state legislatures in the
smallest states with a total population
of 10,904,865, or 3.87 percent of the
population of the United States.
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